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1) What is the area of the triangle?

A:';lz"b\'\ o %\.
A=29 units” (12

2) Carliis getting new carpet for her rectangular bedroom. Herroom is 12 feet long and
11 feet wide. If the carpet is $3.50 per square foot, how much will it cost to carpet her

room? = bh 2 132 :
p/i‘: 1211 —-}-;_ X 3.50 $462

A= 132" 133 'léréé;gg
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3) Which quadrilateral does NOT have an area of 64 square inches?

) A=bh
8 inchesﬂ_ﬁ;&b.; b) 3.2 inches. A= 3. 2% 22;0
A—: erl n* 20inches A: éq ‘i

. A=bh
12inches Pr= 1212
A=I4y n°

. Y inches A= h(ﬁﬂ) ><
. 8(5+n)

“A=58 . ,
st A‘:bq 1N

11 l.n’(_:'hes
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4) A D8m by P8m square garden is surrounded by a gravel path. The gravel path is
shaded in the diagram below. What is the area of the gravel path?

A= bh A-=bh R
A=2525  A=l212
Azb25 A= A= 144
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= 25m
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3) The letter His going to be painted in the center of the Henderspn High School every
game. The diagram shows the dimensions of the letter. What is the area of the letter

Abh 5 Acbh  Asbh am

hoz 510 T Ap=7-3 A.=81S °

= 7m
ZAA::}'.SYT)?'] Ag= zlm"!msm AEE S
| 4] m?= l 7m

6) A wallis built using standard size bricks. The illustration shows the dimensions of a
construction brick. What is the volume of the brick?2

V=1lw-h Doaz in?] s §

4
V= 1333 - 4% WA 2%in!
_"_3..3 3_ ‘3__].9.‘[{\3 o i ’E' 1',’7131

7) What is the volume of the prismg
V=1'w-h
V=4:.2:4 _
V= 32units J

8) The Audi A7 has 24 % cubic feet of car
dimensions for the cargo space?

22ft «31ft a5 ft 43 %H“”/
5.Z. 8 _ i35
53

_ 1 4 NO, bfcaagf /7L/.S
| 100 _much Space .

?) Sarina has determined she needs a truck with 800 cubic feet of space to move her
furniture. Does the truck illustrated have the space she needs?

V=1-w-h
V=25.1S.- 3.5 Y3 F5L43

Vies ' dloes.

go space. Could the following be the
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10) Jgi;ﬂ;ﬂszgok?s }fjor two boxes are shown in the table. Which box has the greater
Y how much?
' gox B
Dimensions Box A Box B /s b ,-Sﬁa.h
Length: 15 cm 8.7 cm by 47. L_/ aem>
- Width: 5.3cm 3.5cm "ﬁ :
Height: 4cm 12 cm
V=l-w-h V= 1-w:h
V*(/s)(s 3Y+) V= §4)(2.5)(2)
V=318cm?3 V=3¢ 6.YDem?
11) Write a situation that would require you to find the surface area. Write a situation that
would require you to find the volume.
Sh Vv
wrapp! N9 [aper pater 4o #7111 @ peel
paint TJolly /?zmcheﬁcf %ﬂﬁif
CMP5+ ol ’
material arnt in A Can
12) What is the surface area of a cube with cr side length of 7 yardse
B A‘: bJ’)S: ”7':}' = ""'q
, d q
ST # 294 *
+y 29 4
13) Find the surface area of the square pyramid.
A: b]n A:é(bﬂﬁ) 3 2 i
pagle 54 A=5EEN B ;
= A= 21.8S (2290 <—— §>
! ?crnrh_
[27F.40 N
49 .00 |
T M : 9.1cm
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14) A' cereal box is in the shape of a rectangular prism. The height of the box is 16 cm, the
width is 6 cm and the length is 8 cm. What is the surface area of the cereal box?

A/C A=bh =16& '-‘-/2?

EJF pebhe &= “fff
GIDPr—bh él(a-_%,

‘7&:

554‘7‘01@2

6 cm

16 cm
A — 3 cm
E B F |6cem
&
C -
8 cm
6cm D
16 cm
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